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Total Marks: 1

Unemployment benefits reduce the cost of job search, this may:

Select the correct option

Decrease the unemployment rate

Increase the unemployment rate.

Increase the output in country.

Leads to higher infition
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Question # 1 of 10 ( Start time: 06:34:32 PM. 08 February 2018 ) Total Marks: 1

Rising inflation means that price level s rising at a(n)

Select the correct option
Constant Rate
(@) ﬁ
Increasing rate.
L) ﬁ
Decreasing rate.
(@) ﬁ
Fluctuating rate.
(@) ﬁ
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Question # 2 of 10 ( Start time: 06:36:06 PM. 08 February 2018 ) Total Marks: 1
[fthe investment demand curve is vertical then:

Select the correct option
Both monetary and fiscal policy are ineffective.

(¢] P

Both monetary and fiscal policy are effective.

(¢] P

Monetary policy i effective but fiscal policy is ineffective.

Monetary policy is ineffective but fiscal policy is effective.
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Question #4 of 10 ( Start time: 06:39:58 PM. 08 February 2018 ) Total Marks: 1
Investment expenditures are expenditures made by the sector
4
Select the correct option
Foreign
(@) ﬁ
Business
L) ﬁ
Household
(@) ﬁ
Goverment
(@) ﬁ

Ll ciick to Save Answer & Move to Next Question
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Unemployment benefits may increase the unemployment rate because unemployment benefts

Select the correct option
Reduce the cost of job search.

L P

Encourage people to quit theirjobs.

(¢] P

Reduce the benefits of additional job searching

Enable people to quit searching for work

Ll ciick to Save Answer & Move to Next Question
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Question # 8 of 10 ( Start time: 06:45:50 PM. 08 February 2018 ) Total Marks: 1
[Which of the following is a stock variable?

Select the correct option
Government debt

. ’

(¢] P

Gross domestic product

[Allof the given options

Click to Save Answer & Move to Next Question
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Question # 9 of 10 ( Start time: 06:46:54 PM. 08 February 2018 ) Total Marks: 1
To hire the next worker, the firm pays Rs 50. This Rs 50 is the:

Select the correct option
Marginal input cost.

. ’

Marginal revenue

(¢] P

Marginal product

Marginal revenue product

Click to Save Answer & Move to Next Question
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